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Note :— Answers may be written either in English or in Hindi; but
the same medium should be used throughout the paper.
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Attempt Five questions including
Question No. 1 which is compulsory.
ANl guestions carry equal marks.
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1. Attempt briefly any four of the following :
(i) Distinguish between theft and extortion.

(1) Discuss the ingredients of sudden fight as a
partial defence to the offence of murder.

(iii) Distinguish between ‘kidnapping from lawful
guardianship’ and abduction.

(iv) Explain the ‘doctrine of transference of malice’.

(v) “Section 304 B and Section 498-A of the Indian
Penal Code are not mutually exclusive™.
Comment.

ffefan A ¥ Rl o & IR 9§ fofew .-

(i) T R ST F = ST wWe A |

(i) e & suau F 9 A0S v & A
wEE F "eewl & e difm |

(i) fafrml g @ e’ @R swew @ 9w S
T HilR | 7

(iv) 'REv-gn B Rer’ = we wifew )

(v) “vweflg < dfeer & Ut 304-B FR W 498-A
TR yoawes T 81" Rodt fafee

2. Mita, aged 17 years and 10 months, was a student of
B.Sc. first year in one of the reputed colleges of
University of Delhi. She developed an intimate
relationship with Salim, her classmate. Apprehending
that her orthodox family would never permit her inter-
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religious marriage with Salim, Mita tetephoned Salim
to discuss the issue. Salim told Mita that the doors of
his house were always open for her and his parents
would treat her like their own daughter. That night,
when her family members were asleep,‘ Mita went to
Salim’s house and spent the night there. On a
complaint made by Mita’s parents, Salim is charged
with the .offence of kidnapping Mita from lawful
guardianship. Decide citing judicial precedents.

17 3% 3R 10 T AN g AR Ay e RvaRowd @ @
o woe @ @ -@ w9 v R IR a
WS AW & a9 FO0 e w9 WY | @ TG J
fET B gu & o wRaD Rar wdw 2 W seR
gt R R sl = 98 28 2w, oW 3w R
R o & R e wlm w AwE e wdw ¥ A
¥ w1 i 39 W & TO vEd g vl @) § ok s
wrn- e SE A9 wE 9 @ N wE WY I8
vE # & WRaR @ ¥e AN gQ A, A v ® w o
IR ST T 9@ Ted ) A D wr-RAa ) A w
T W/ A ® Rt wemm ¥ wmse WY @ R
A A 2 fE @R @ e 3 ge fifwa
i

Amit went into a state of shock when he learnt about
his wife’s extra-marital affair with his best friend,
Sumit. Amit locked himself up in a room and did not
have dinner that night. Next morning he went to
Sumit’s house and shot him dead with his licensed
revolver, without uttering a word. Amit is being

rosecuted for Sumit’s murder. Decide.
P ' P.T.O.
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T W T FTR I D A v B ghw @ @
fiaRw w29 & 9w aHe el @ St el
I B TS | AT A JU AH v TR A we W
oo @ 3@ qa W N A8 R sl gEE 9w g
F W T AW IET TE T N AR A e adaye
Rarew 4 T & M =@ R Ten 1 JE W g &
T & AREN Sema o @ B Rftwg 96w

4. (a) X, a gatekeeper at a manned railway crossing,

went away for his lunch without closing the gate.
A bus crossing that railway track sometime later,
was hit by a goods train and six passengers died
as a result. Discuss the criminal liability, if any, of
X and the bus driver.

(b) Reema was being continuously harassed by her

husband Rohit for not bringing sufficient dowry.
On several occasions, Rohit told Reema that he
would get rid of her and get remarried to some
rich girl. One day Rohit strangulated Reema with
a rope and believing her to be dead, set her on
fire. The post mortem report revealed that Reema
died due to burn injuries and not due to
strangulation. Examine Rohit’s liability for causing
Reema’s death.

e A IW A B T UF W W AW
X T ® o= e o w9 w0 = @ e [ aw
I TF IR A W TG Ao ¥ U M o
IRAFRTET T WA A 7Y 8 T 1 X R TE R FER
7 FafE wfii|, aR w2, W R¥gw St
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(@) T N Ew R IRT w0 wWiw BT T 9w B R
AR AT Rear @ @ ow o T X Iw D = Ww
el o f& 9% Iud goaww dw IR R i wra
% oM REE T | R A A wh A T ow@n
Hiz Rar @R 70 gan AMER IEE A D FE H R
wa e RAE ¥ v Ten B A g e ¥ g,
T i 2 e AL d A g FRg w e @ o Ak
& ol @ ol SR

5. X harboured a grudge against Y, who had earlier made
some obscene remarks against X’s sister. One day,
finding Y alone, X gave a forceful blow on Y’s head
with a heavy lathi causing a major skull fracture which
resulted in Y’s death. X is being tried for Y's murder.

4 Decide citing relevant Jjudicial precedents.

XBWMAY R IR o o0 @ o w=iEF Y 3 oo @
T X A W D W A e Ruafden = F | o R
Y @l F@w we X ¥ Y @ R ow ool wd F der
wer fFa Ged et @ud ¥ 9o Bew & @ we
qfoERd Y S qg B W X w Y & oz R fw
faare fam &1 @1 3 | wENe Fafe gl w5 e 99
¢ Rfrea ke

-
.

6. Rohan had an affair with Lila, aged 17 years. On
Rohan’s promise to marry her, Lila agreed to have
sexual intercourse with him. Every time before the
intercourse, Rohan assured Lila that he would marry
her very soon. After an year of sexual intilnacy, Rohan
told Lila that he will not marry her since she is a girl

P.T.O.
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of eéasy virtue and he would marry a girl of his
parents’ choice. Lila lodged an F.I.R against Rohan
for the offence of rape. Decide.

W @ 17 9ffg D S 9 I g A | ST W IED
Y fAae R @ aEe B 9 W o s wy Ay
Fo 3 fore o & T 1 A ¥ A W AR W A9 _
Rww G o % 98 sea o w59 s fam w9
A FETE & U q¥ 9 A8 A en A FB % a9 9
e 5 =t FiF 55 & ww 99 agdt T w98 aon
A - & tae W A D aw | Raw wEn ) S
T IEET B vy @ fow Ae B Ree wuw hven RN
TS w0 9 R it

7. (a) A, a Life Insurance Corporation agent, collected
the premium amount of the policy from B, the
policy holder. Instead of depositing the money
with the Corporation, A used the money to buy a
scooter for himself. For what offence can A be
prosecuted ?

(b) E threatens to publish a defamatory libel
concerning Z, unless Z gives Rs. 50,000 to him. Z
gives the money to E. What offence, if any, has
been committed by E ?

(%) M= s Fom & T vee A X aferia B ¥ gt
2 A R oY v @ I oW W R ¥ v
FE N I A ¥ I8 I I TR FE AR R WG<h
= o A W frs sy & e sfteit samr .

37 ' . SRR
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E, Z 1wt 3an 2 f& uir 39+ 3% 50,000/ - ¥9¢
# Ry @ @' I WM ¥ AFElERE AW WE
mﬁmmhn-meﬁrEaﬁ%h%nEm

T ey afe w8 2, Bhar mn 27

8. (a)l, falsely pretending to be an income-tax official,

entered R’s house and told R that he owes some
money to the income-tax department. R paid the
money to 1. What offence has been committed by
17

(b) Nina and her friend Seema used to exchange books

on a regular basis. One day Nina entered Seema’s
library in Seema’s absence and picked up a book
and took it to her home for reading. Is Nina guilty
of any offence ? Would your answer be different
if after going through the book Nina likes it and
decides to retain it to enrich her own coliection on
books ?

I ¥ a8 = v e SR ;W R 3
W ¥ WA fFa #R R J o1 B I8 |/F R ST
o = F 2, R AT A I oWl @ deE W
Rari I 3 = sy fawan 3 7

W I TS W e Pl w1 A SR e
s -uEe fea A & v R A A aeRaRy §
W W B gEreg ¥ ga s, I8 961 ¥ WS
I #R I T & B s WA w1 A
Iy AN AG T ? AR AN gEE W@ U & We IR
T HE T T G R A A R G e
? o 3@ gew &t s m w@ T W Ry s
2 @ w e Iw BT B ?

(100)****
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